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SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.
Each question carries 2 marks.

1. Define a regular graph.

R(PpHEIE Cam(H(Henel eueTwim).
2. In a graph G(p,q) prove that Zdeg V.=2q .
GUENTLILLD G(p,q)— @ Zdeg V, =2q eren flmieys.
3. Define a graphic sequence.

@ Cam O QgTLT euflengenw euenFwimI.

4. Define the adjancency matrix of G .

G erenm Caml(H\(medler Sjartento Sjanfleni cuanFuwim.

5. Define C(G).

C(G) cuETLIm).



10.

11.

12.

Define a tree.

QUENTWIM). LOIGY(T.

Define the main () function.

cuenmwm: main () &miy

Define constant.

cuenguim : omhladl.

What is meant by function in C?
C— & sy eTamUIS6T S TEHSLD eTemen?
How do you open a file?

Garienu B erlivig Splinmi erem gamis.

Define string.

GUENTWIM) © FITLD.

Define union.

cuengum : Camiy.
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SECTION B — (5 x 4 = 20 marks)
Answer any FIVE questions.

Each question carries 4 marks.

13. Define isomorphic graphs and prove that the

following graphs are not isomorphic.

s

gravoliy 2alw  Csrimssemer. euamrum. S6p
@O Heter Cam(Hmss6r renbliL] DHmene eTer

ST (H&.

s

14. If 0= K, prove that G has a path of length K .

02K ear @Quulear G ey K Berperer
urengew QubmieTarg) erar lmie|s.
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15.

16.

17.

18.

19.

If G is a graph in which the degree of every vertex

1s atleast two, prove that G contains a cycle.

G eram Caml(medler eeiGeum wpeveruiler Ligubd
G@mnhs UL gb 2 aafld, G g FHenns Cararr(hererg)
ereu flemLdl.

Prove that K, is non-planar.
K, sarsdler ojenowing) eren Hlmieys.

Explain the formatted output statement.

QpOLiLGsiul L Qeuafluil (H& sl Laner —alauffl.

Explain the switch statement with examples.
switch aursflugens o grranhis@Eper aleflés.
Distinguish between ‘call by reference’ and ‘call by
value’.

“wdllber epeowrs e’ wHmb ¢ Cumrmbgl
SPUL" &&EHEE @erLCu o drer algSunshisamar
(SIS
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20.

21.

SECTION C — (4 X 10 = 40 marks)
Answer any FOUR questions.

Each question carries 10 marks.

(a) Prove that RC_?) =’_(C_7).

(b) Provethat a+fB=p.

(<=1) |_(<_3)=F(C=?) eran blmieys.
(=) a+pB=p aa fneys.

Prove that a partition p= (dl,dQ...,dp) of an even
number into p-parts with p-12d,2d,>...2d, is
graphical if and only if the modified partition.
p'=d,-1.d,-1,..d, -1,d,  -1,..d,)is graphical.
p-12d,2d,>...,2d, JETR: TN o) S o B (- 1)
@rieL it crewTanfler  p = (dl,dz...,dp) TG

uiE® em Casrl (i urdLTs Q@mbsTe , ©)(HbSTe
ol ®Go  p'=ldy-1,ds-1,..d,  -1,d,  -1,...d,)

orem HpSHw LmEH eqp Cam B LR ere HlemLal.
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22.

23.

24.

25.

Prove that the edges of a connected graph
G=(V,E’) can be oriented that the resulting

digraph is strongly connected if and only if every
edge of G 1s contained in atleast one cycle.

G= (V,E') ararm Qgr(Hss Cam(Himeden efleflbuser,
ellenerey Hangds Caml(Hmellen CsTHSSHTEH 2 eTareumm)
Sansud b eafild, erafler wLLHGL G 6
eaCeur eflefibybd Gamnhs UL FD g &HHleomeig
SieWLd eTe HlemLal.

Describe the different data type in C.

C— e uvCeum ey cuanssamar 6ileTdEs.

Explain the various control statement in C
program.

C- i gdle uGaum sl (UUBSSD euTsESwLnIGmaT
NaM&salib.

Write a C program to find the average of N

numbers.

N cramsefler gpmaf sramib C Hlyene er(ps)s.
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